
xp(X)  •~+~xz>pO+  p 1 2 2=p3=...=0,2, p

⌧%(⌧) q -⌧ q > q
0 = 0, q1  = -1, q2  =_q3  = . . . = 0

m&.mi7%~  ( 12 )

F(r)  q r2 + (pO  - 1)r + q0 = 0

r2+$-  lh-=0

r(r - $1  = 0

r = 0, d

7”W r1 = $ , r2 = 0 Iwd rl # r2 uar rl - r2 # N

a
n-l C(r  + k)pnek  + \-k 1

=-  z
n k=0 F(n + r) 4!c  -,n>l

an(r)  = -
C(r  + n - 1)p1  + qll

F(n  + r) an-l . . . ..(17)
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Umtdl  r = r = ; ua:: 1
1 Pl = 2 , 91  = -1

2 7 3
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co

. Y2 =Y1 In  x + 2x-ly:  - x+yl  + Z (n-
n=l

1 I( n - 2 )bnxne3

cx2yy + 3Xy:  + ( 1-2x )yl Iln x + 2yl + 2xy/  +
00

n-l
1

Z
n-l

( n-2 N n-l )bnx

01
n-l m

+ Z 3(n-1  Ib,x
n=l

+ x bnxn-’  -
c o

n=l
2 z bnxn  = 0
n=l

ui x2/3 + 3Y;  + (1 - 2x15 = 0 iii&J

2y1  + 2xy;  + bl + i ( n2bn  - 2bn-l  Ix”-l  = 8
n=2

n n-i
2x

-1 ” 2x+2x

n=l (n! I2

-2x -1 m+2 x 2”Cn - 1 Ix”-l

n=l (n! j2

m
+ b

1 + Z ( n2bn - 2bn-l  Ix”-’ =0
n=2

n+l

bl
+ 4 + ; Cn2bn  - 2b-l + n2 lxn- l =0

n=2 (n! j2

b1 = -4
n+l

b, = ‘2b-1 - n-22 Vn2 , n>2
n!
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